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import RPi.GPIO
import time

R, G B=17 18,19
RPi.GPIO.setmode(RPi.GPIO.BCM)
RPi.GPIO.setup(R, RPi.GPIO.OUT)
RPi.GPIO.setup(G, RPi.GPIO.OUT)
RPi.GPIO.setup(B, RPi.GPIO.OUT)
pwmR = RPi.GPIO.PWM(R, 70)
pwmG = RPi.GPIO.PWM(G, 70)
pwmB = RPi.GPIO.PWM(B, 70)
pwmR.start(0)

pwmG.start(0)
pwmB.start(0)

try:
t=04
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while True:
#OB0eRs, BT, FTLtE (418)
pwmR.ChangeDutyCycle(100)
pwmG.ChangeDutyCycle(0)
pwmB.ChangeDutyCycle(0)
time.sleep(t)

#Zelles, 41T, BTt (8)
pwmR.ChangeDutyCycle(0)
pwmG.ChangeDutyCycle(100)
pwmB.ChangeDutyCycle(0)
time.sleep(t)

#BEEIes, 40T, FTetE (E8)
pwmR.ChangeDutyCycle(0)
pwmG.ChangeDutyCycle(0)
pwmB.ChangeDutyCycle(100)
time.sleep(t)

#40T, HFIIe=, BTLE (EE)
pwmR.ChangeDutyCycle(100)
pwmG.ChangeDutyCycle(100)
pwmB.ChangeDutyCycle(0)
time.sleep(t)

#L)], BT2=, FI2E (F468)
pwmR.ChangeDutyCycle(100)
pwmG.ChangeDutyCycle(0)
pwmB.ChangeDutyCycle(100)
time.sleep(t)

#F)T, BIIes, 40£E (F8)
pwmR.ChangeDutyCycle(0)
pwmG.ChangeDutyCycle(100)
pwmB.ChangeDutyCycle(100)
time.sleep(t)

#4007, T, BIIE2S (B8)
pwmR.ChangeDutyCycle(100)
pwmG.ChangeDutyCycle(100)
pwmB.ChangeDutyCycle(100)
time.sleep(t)

# BRI FHELEDINS M EENSEEHS HSMEES
for rin range(0, 101, 20):
pwmR.ChangeDutyCycle(r)
for g in range(0, 101, 20):
pwmG.ChangeDutyCycle(g)
for b in range(0, 101, 20):
pwmB.ChangeDutyCycle(b)
time.sleep(0.01)

except Keyboardinterrupt:
pass
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pwmR.stop()
pwmG.stop()
pwmB.stop()

RPi.GPIO.cleanup()
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